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A sequence is arithmetic if the differences between consecutive
terms are the same.

The sequence gq,,a,,a,,...,a,,... is arithmetic if there is a number d

.
such that
a,—a,=a;—a,=a,—ay; =...=

The number d is the common difference of the arithmetic sum.
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Determine if the sequence is arithmetic. If it is, find the common
difference.

a) 7,11,15,19, ...

c)6.5,56.5,49,43,3.7, ...

_\l/ -\f, noypt
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The nth term of an Arithmetic Sequence

The nth term of an arithmetic sequnce has the form

a, =dn+c 2 \‘GI .
Xevpliat
% 0n= 0+ (n1)d
where d is the common difference between consecutive terms of the

sequence and
c=a —-d

KreCursive. O = ot Fdd
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Find a formula for a, for the arithmetic sequence.

a)a;=100,d=-8

recwsjve
= 100 4+ (nY ) Corwi= G- &

On = -%n. +10%
b) ar=-10,d = -12

C) ds = 15, a;, = 36 é - - - Lb-vgu_u—v—u—v_uil’
3= 5+ 7d 19°36 4 15+ 46)

d;_3 5”1 —
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Write the first five terms. Find the common difference and write the nth
term as a function of n.

a) a1=13, am=act+ 4

I
%/ l'?} 2,\’ 2_6‘/201
A
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Find the indicated missing term.

a;=5,a=11, ass

QA= 5\—(\4 L
A, (h—\>o\
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The Sum of an Arithmetic Sequence

The sum of an arithmetic sequence is given by

n
S =—(a, +a
n 2(1 n)

The sum of the first n terms of an infinite sequence is called the nth
partial sum.
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Find the sum.

143+5+47+9+11+13+15+17+19 = |pp

1+2+3+4+5+6+..+99+100

_/?9(%0(1 ¥ {oo) = 60(10D= 505 O
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Find the partial sum.

8,20, 32,44, ... n=10
>

2 (24 10) - b20

7,21, 35,49, .. n=1

(=S

'—i(w )
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O“-_ O\| —‘- (h’\)i

o, = ‘@+(0\>(\z>

= \b

Xig =

10
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Find the partial sum.

/ 100

Z Sn
n=1

100
2 (‘5+ 600): 50(%05 )
2s,250

500

7S (n+8)

%(\)D(c) + 60%)¢ A90 (617>

11
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> (100-2n)

12 (a3 +710)

November 10, 2016

12
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A brick patio has the approximate shape of a trapezoid. The patio has
18 rows of bricks. The first row has 14 bricks and the 18th row has
How many bricks are in the patio?

===\ ENGEED)
N\

13
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